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A A AY| (M| & D) (IIEH/IIEL)

Ehelr D123l (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES e i BlRE2
OLNE=EAI LIEH, E8 B3 L&)
300,000 »2CH =123 7,200
OZd=E A LIHEH, &E8 83 ZLF)
300,000& x1CH*12& 3,600
202 o4l 52,800 55,200 A2,400
01 LAY 52,800 55,200 A 2,400
= Off & 52,800 55,200 A2,400
OJl2aUusaoyl
20,0003 =22 x10 128 52,800
203 YR =T 4,200 4,200 0
04 REA2EHRFEH 4,200 4,200 0
= 0fl &F 4,200 4,200 0
OfM2ZE 2224 350,000& x12& 4,200
HWRaes(d2)| ) (ders38y/detad ) 20,000, 000 10,000, 000 10,000,000
HEAHHK = 20,000, 000 10,000,000 10,000,000
LHEHeH X = 20,000, 000 10,000,000 10,000,000
702 Jl=dE3 20,000, 000 10,000,000 10,000,000
01 JI=dES 20,000,000 10,000, 000 10,000, 000
= 0fl & 20,000, 000 10,000, 000 10,000,000
OAMEAN HEIIS 20,000,000, 000& * 14! 20,000, 000
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